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Figure 4.3: All channels pulsed at 5 fC input charge (test amplitude DAC = 6), 7 fC threshold (threshold  DAC=10), Att=1(00b)in CR2 register

R/W R1 R0 A6 A5 A4 A3 A2 A1 A0
0 1 0 1 0 0 0 0 0 0

Address Register contents =

CR2 Register contents = At2 At1 Vt6 Vt5 Vt4 Vt3 Vt2 Vt1 Ta7 Ta6 Ta5 Ta4 Ta3 Ta2 Ta1
0 0 0 0 1 0 1 0 0 0 0 0 1 1 0
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Test 4.3a: Load CR1 for  channels 1-4 pulsed, and steepest leakage slope

Address Register contents =

CR1 Register contents =

R/W R1 R0 A6 A5 A4 A3 A2 A1 A0
0 0 1 1 0 0 0 0 0 0

FIGURE 4.3.a: Operating mode Test 4.3 for channels 1-4

T1 T2 T3 T4 T5 T6 T7 T8 T9 T10 T11 T12 T13 T14 T15 T16 DS3 DS2 DS1
1 1 1 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

10 microseconds

2  microseconds

7 microseconds test pulse issued
here

No outputs must fire.
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Test 4.3b: Load CR1 for  channels 5-8 pulsed, and steepest leakage slope

Address Register contents =

CR1 Register contents =

R/W R1 R0 A6 A5 A4 A3 A2 A1 A0
0 0 1 1 0 0 0 0 0 0

FIGURE 4.3.b: Operating mode Test 4.3 for channels 5-8

10 microseconds
2  microseconds

7 microseconds test pulse issued
here

T1 T2 T3 T4 T5 T6 T7 T8 T9 T10 T11 T12 T13 T14 T15 T16 DS3 DS2 DS1
0 0 0 0 1 1 1 1 0 0 0 0 0 0 0 0 0 0 0

No outputs must fire.



rd_sc

si

sad

os

tp_sl

soe

so

1 2 3 4 5 6 7 9 108 11 12 13 15 16 17 19 2018 21 22 23 24 25 26 27 2928 31 32 33 34 35 36 37 393830 40 4114

Test 4.3c: Load CR1 for  channels 9-12 pulsed, and steepest leakage slope

Address Register contents =

CR1 Register contents =

R/W R1 R0 A6 A5 A4 A3 A2 A1 A0
0 0 1 1 0 0 0 0 0 0

FIGURE 4.3.c: Operating mode Test 4.3 for channels 9-12

10 microseconds
2  microseconds

7 microseconds test pulse issued
here

T1 T2 T3 T4 T5 T6 T7 T8 T9 T10 T11 T12 T13 T14 T15 T16 DS3 DS2 DS1
0 0 0 0 0 0 0 0 1 1 1 1 0 0 0 0 0 0 0

No outputs must fire.
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Test 4.3d: Load CR1 for  channels 13-16 pulsed, and steepest leakage slope

Address Register contents =

CR1 Register contents =

R/W R1 R0 A6 A5 A4 A3 A2 A1 A0
0 0 1 1 0 0 0 0 0 0

FIGURE 4.3.d: Operating mode Test 4.3 for channels 13-16

10 microseconds
2  microseconds

7 microseconds test pulse issued
here

T1 T2 T3 T4 T5 T6 T7 T8 T9 T10 T11 T12 T13 T14 T15 T16 DS3 DS2 DS1
0 0 0 0 0 0 0 0 0 0 0 0 1 1 1 1 0 0 0

No outputs must fire.


